7-030€=___ €
9-030€= €
2 3-120€=___ €
6-110€= €
3 084€:2=__ €
050€:5= €
0,/5€:3= €

8-065€= €
7-065€=__ €
6-075€=___ €
4 -125€=___ €
078€:2=____ €
0,88€:4= €
096€:8=_____ €

7 Hornchen }
7+ 60ct—7ct /

L’\ ‘\/

4-230€=___ € 3-135€= €

7-099€=__ € 6-199€=__ €
120€:4=____€ 325€:5=____€
128€:4=____ € 279€:3=____€
148€:4=___ € 648€:8=____ €

4 Kevin und Pia haben eingekauft. Wie viel Stiick von jeder Sorte haben sie gekauft?

& 30 ct
1,20 € ____ Stiick
3,00€ ____ Stiick

65 ct
325€ ____ Stiick
1,95€ ____ Stiick

(@ 0,95 €

1,90 € ___ Stick
475€ ____ Stlck




